
Factorisation d'Exposants (E)
Décomposez chaque exposants en facteurs.

15 =

52 =

93 =

311 =

86 =

212 =

83 =

42 =

59 =

510 =
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Factorisation d'Exposants (E) Solutions
Décomposez chaque exposants en facteurs.

15 = 1 × 1 × 1 × 1 × 1
1

52 = 5 × 5
25

93 = 9 × 9 × 9
729

311 = 3 × 3 × 3 × 3 × 3 × 3 × 3 × 3 × 3 × 3 × 3

86 = 8 × 8 × 8 × 8 × 8 × 8

212 = 2 × 2 × 2 × 2 × 2 × 2 × 2 × 2 × 2 × 2 × 2 × 2

83 = 8 × 8 × 8
512

42 = 4 × 4
16

59 = 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5

510 = 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5
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177 147

262 144

4 096

1 953 125

9 765 625


